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Recitation Time:
Homework #6 is due at 5:00 PM on Feb. 27 in your recitation’s homework box near Cardwell 120.

1. Calculate the following derivatives. You don’t need to show your work, but by

writing out your work, you mlght make fewer mistakes.
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2. Suppose that the height of a plane £ minutes after take off is h(¢) =25001In(¢ -1)

feet for 0 < ¢t < 15. How fast is the plane rising 5 minutes after take off?
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3. The number of cases of influenza in New York City from the beginning of 1960
to the beginning of 1964 is modeled by the function

N(t) —5 93t2—0. Tt (0 <t< 4)

where N (t) gives the number of cases (in thousands) and ¢ is measured in years,
with t = 0 corresponding to the beginning of 1960.

A. Find and interpret the meanings of N(0) and N(4).
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B. Find and interpret the meanings of N'(0) and N’(4).
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4. Use logarithmic differentiation to find the following derivatives.
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5. A. Find ¢/ = %Y for the curve 22y = (23 +y2—1)3 S 22633 2t 2\02%_ )
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B. Find the equation of the tangent line to %y = (2% + y* — 1)% at (1, 1)[ b 22247 ?
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6. Find v = d—y for the following curves.
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